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QUESTION 1

You model invoices and invoice items with a UML class diagram. The total amount of an invoice is calculated by
summing up all individual invoice items. This means that an invoice showing 5 article prices contains 5 invoice items.
What model element most accurately describes the relationship between invoice and invoice items? (1 Point)

A. Composition

B. Aggregation

C. Generalisation

D. Association

Correct Answer: A

QUESTION 2

As a requirements engineer, you deal with a diverse range of requirements. A template for natural language functional
requirements can help you to formulate different forms of system activities in a more precise way. Which two kinds of
system activities are among those supported? (1 Point)

A. User interaction

B. Technical requirement

C. Quality requirements

D. Independent system activity

E. System requirement

Correct Answer: AD

QUESTION 3

The following state diagram is to be found in a requirements specification for an order management system. Which of
the following requirements is consistent with the diagram and which are not? (2 Points)

Consistent | Not consistent

A B Aninvoice may only be issued after the productslisted on it have
been dispatched.

A product thatis rnot in stock is sent directly by the supplier.

C‘ D
E F Every order results in at least one invoice.
G B All products ordered are delivered. except if they are discontinued

by the supplier.
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A.A D, F G

Correct Answer: A

QUESTION 4

You are project manager for a system that your company is creating for the military in the field of logistics. A
requirements engineer has been assigned to your project but does not have all the desirable skills for this role. In
respect to the attributes of the requirements engineer, which of the following statements implies the greatest risk for the
requirements engineering? (1 Point)

A. The requirements engineer is not familiar with the military ranks and so cannot deal adequately with the hierarchical
sensitivities.

B. The requirements engineer does not have detailed knowledge of the military norms and standards that should be
applied to the system.

C. The requirements engineer has no solid project management training.
D. The requirements engineer is introverted and has no knowledge of requirements elicitation and documentation.

Correct Answer: D

QUESTION 5

You are employed as a requirements engineer in a company in the logistics sector and are involved in a project that
aims to replace a legacy application for distribution and shipment of goods with a new system. A colleague has already
created a context diagram. You are assigned to check this. What are your thoughts about this? Indicate for each
statement whether it is true or false. (3 Points)

True | False

A B The problem assignment of the system cannotbe derived from the diagram

C D The relationship between truckand truck driver is not necessary.

E F The actor with the designation "?7?" and the data flow "Goods?77" should be
om:tted. because there is not enough information about themand there are too
many ambiguities.

G H The relationship between loading crane and the systemis not specified in
sufficient detail.

A.AC FG

Correct Answer: A

IREB_CPRE_FL Study IREB_CPRE_FL Exam IREB_CPRE_FL
Guide Questions Braindumps

IREB_CPRE_FL Study Guide | IREB_CPRE_FL Exam Questions | IREB_CPRE_FL Braindumps 3/3


https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
http://www.tcpdf.org
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html

